
AUFBAUANLEITUNG - ASSEMBLY INSTRUCTION

A277

T1618



Maßstab 1:1, scale of one to one
Modellabhängig, model specific

In
bu

ss
ch

lü
ss

el
 4

 m
m

Ve
rb

in
du

ng
sp

la
tte

A
lle

n 
ke

y
4

 m
m

C
on

ne
ct

in
g 

pl
at

e

 

! Hinweis / Note:

Für den Aufbau werden zwei Monteure 
benötigt. Somit vermeiden
Sie Beschädigungen im Vorfeld.

Two persons are needed for the
assembly. This prevents damage
in advance.

1 Vorbereiten / preparation

12
x 

Sc
hr

au
be

 4
,5

x2
5

 m
m

4x
 S

ch
ra

ub
e 

M
6

x2
0

 m
m

8x
 S

en
kk

op
fs

ch
ra

ub
e 

M
6

x1
0

 m
m

12
x 

Sc
re

w
 4

,5
x2

5
 m

m

4x
 S

cr
ew

 M
6

x2
0

 m
m

8x
 C

ou
nt

er
su

nk
 h

ea
d 

sc
re

w
 M

6
x1

0
 m

m

Unterlage / Verpackungsfolie
underlay / packaging foil



4

3

Montage Holzeinleger
ausführungsabhängig

assembly of wooden inlays
design specific

Unterlage
underlay 

!
Ausfräsung 
nach unten
Milling to 

the bottom

Unterlage / Verpackungsfolie
underlay / packaging foil

1.

4.
2.

5.

3.

!
Schraub-Reihenfolge beachten!
Observe the screwing sequence!

2 Montage Verbindungsplatte / assembly of connection plate



5 Montage Tischplatte / table plate assembly

6

Schraube 4,5x25 mm
Schraube M6x20 mmScrew 4,5x25 mm
Screw M6x20 mm

!

0
2

/2
0

2
5

 T1
6

1
8

 
K

oinor P
olsterm

öbel G
m

bH
 &

 C
o.K

G
, Landw

ehrstraße 1
4

, 9
6

2
4

7
 M

ichelau, info@
koinor.de


